Indices

Question 1 Simplify the following:
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Juestion 2 - Simplify the following:
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Juestion 3 Simplify the following:
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5 3??.4

£ 1202  2m?2 ®)

Pxyxy® =

m®

m®

xty?xaByd =

dm?x 6m’
3mb

(14XCE3+CL5—‘—“

15m8 p* x 6m? p + 10mp

omin x 12mn?
2,4

6m

5rx 1t =

95n +221'1.1-'1 —

| (a+b)4 +(.czs+b) _

xll 3:1:5

(e n®+n

Il

® () =

(1) 4x10y8 s 228 y% = :

x? x 2x.

3 7
® [Sx x 4x )

() x2+atxal=

©) | 48298 + bty = duyS =

) 1559 y x 8ayll
(i)

Ax3 48 3x%y

(c) B 5m+1 —

(f) a4m+1+ a3m—2

{i) — X

R



juestion 4 Simplify the following and express in positive index form:
5
a) a¥xa® = (b) x'xx8 = ' (e) (n‘3) =

@ (2p7¢)"-= (&) 3x2xxT = T ® BalbMx8a3y =

Juestion § Evaluate the following without using a calculator;

A 2 2
a) 164¢ = (b) 8% = (e) 10003 =
4 ' 1y _1
d) 125% = ) (e) (92) = @ 257 =
_3 - s -1
g 1677 = (h) 325 = (i) 21673 =
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{a) p3xps = ' b) mi+mt = (¢) 12n? +8n? =
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Question 7 Evaluate the following without using a calculator:
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(a) 625% = - (b) 243% = (¢) 100073 =
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Question 8

Ezpand and si;iph'fy the following:

{a) a? (a3 + 2) =

@ 5p°(25*-3p) -

(g) (a3+ 1)(a3~ 1). =

(b) xz(x2~5) =

(¢} n? (n3 + 3n) =

{e) xz(ZxS— 3y2) =

() (x2+3)(x2-1)

6] 7mn(5m2 + 2n) =

63 (3m2 —n? )(2m2+ 5n‘é )

Question 9 . g
(a) Express m 1+ n1 as a single fraction (b) Simplify tz—_yé—
without negative indices. A
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